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B ofF | OFF Ty |BREEK| o 5] >3-4 =& Ty =/ B (|EESX| 98 [9Bkcem)| 9B | BERX [HS (cm)|HW (mm)|G (g/cm?)
1S 1.2 1.2 -1.7 -1.0 1.2 -2.4 87 6.0 * 5 182
2|s 1.2 0.8 0.1 1.0 6.8 -2.3 78 1.0 * 0 166 176 421 0.24
3|s 0.8 0.8 0.6 1.4 8.0 -2.1 79 3.0 © 16 150 156 422 0.27
4|WNW 0.7 1.3 -0.5 -0.7 0.6 -2.1 88 17.0 * 23 149 159 434 0.27
5[S 1.3 1.3 -1.3 -0.2 4.9 -24 82 9.0 * 10 156 164 462 0.28
6[S 1.9 1.2 -0.5 0.7 5.0 -3.3 78 6.0 O 5 144 151 441 0.29
7|NNW 0.8 1.0 1.9 2.6 5.7 0.4 83 9.5 0] - 127
8|N 0.4 1.6 5.6 2.8 9.2 -1.8 73 5.0 O 12 121
9|WNW 2.9 2.2 22.0 1.1 0.4 1.9 -1.8 87 26.5 A * 19 129 137 477 0.35
10|NNW 0.4 1.2 -1.1 -1.2 0.8 -2.8 89 20.0 * 28 142 147 490 0.33
) 12] 13 04| 06| 44| -21 82 103.0 118 | 1466
11|wsw 0.8 1.1 -04 0.3 6.5 -3.2 78 4.5 O - 159
12|sw 1.3 1.5 4.2 3.5 8.9 -34 78 16.5 7.0 © - 140 146 510 0.35
13|- 0.1 1.2 5.6 5.1 11.2 -0.3 75 - O - 124 127 524 0.41
14|N 1.0 1.0 5.1 1.8 5.1 -0.7 87 6.5 [ 9 119
15|wsw 0.6 1.0 -0.2 0.6 3.0 -0.7 88 11.0 * 3 127
16|SSE 0.9 0.9 0.7 1.5 6.7 -2.0 79 0.5 0] 14 127 127 492 0.39
17|WNW 0.7 1.6 0.1 -0.7 0.4 -2.2 90 35.0 * 27 133 135 499 0.37
18|ESE 0.6 0.9 -1.7 -1.0 2.9 -44 86 2.0 * - 154 156 521 0.33
19|E 0.7 0.8 0.2 1.0 10.7 -1.6 73 43 - O - 143 145 510 0.35
20|NE 1.0 0.7 4.8 4.1 8.6 1.3 79 17.5 © - 133 132 513 0.39
) 08| 1.1 18] 16| 64| -23 81 93.5 53 | 1359
21|E 0.7 1.1 3.7 3.0 4.5 0.3 83 10.5 [ - 125
22|N 0.9 1.0 1.2 1.4 6.1 -2.7 1 - ) - 124
23|NNW 0.6 0.9 -14 0.9 9.8 -5.3 72 43 - O - 121 116 512 0.44
24[NNW 1.3 0.8 -14 1.1 6.5 -3.3 73 43 - © - 118 114 498 0.44
25|~ 0.1 0.6 4.5 5.3 11.2 1.8 68 - © - 114 111 495 0.45
26|NE 0.2 0.7 4.5 5.5 10.7 1.8 75 0.5 © - 114 107 487 0.46
27|SE 0.2 0.8 41 4.8 8.9 1.3 84 1.5 © - 110 104 485 0.47
28|NW 0.9 1.0 0.9 4.1 11.2 -1.0 81 5.0 O 1 108
29
30
31
T4 06| 09 20| 33| 86| -09 76 175 1| 934
A 0.9 1.1 1.4 1.7 6.3 -1.8 80 214.0 172 | 3759
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